VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

10.2.1 VHR.../..1

=S

209 42 97 90

| VHR./1 |

2275 1785 46 42 97 90
2375 1885 38 50 97 90
260 203,5 57 50 107 90
275 2185 47 60 107 90
3 2435 46 80 17 90
3375 2535 78,5 80 154 120
395 310,5 58,5 100 154 120
4245 3405 43,5 15 154 120
421 3195 105,5 100 184 120
451 3495 90,5 15 184 120
I I - S T S O S - R
[ o041 | 196 40 6 215 M6 13 120
[ os1 | 246 50 8 27 M8 13 130
[ o6l | 286 60 8 31 M10 16 165
[ o1 | 38 k6 80 10 Y M12 25 195
[ 101 | 48 k6 110 14 515 M16 19 252
[ 121 55m6 110 16 59 M20 25 300
| owea ok ok Ll M | N | o | _RrR___| s
B - 45 130 105 74 9 86.5 9.5
[ os1  [EEERF 70 178 150 100 l 106 15
B - 70 195 165 110 l 120 15
[ os1 [ 85 230 185 123 14 130 15
B 130 295 240 162 18 173 16
[ 121 Y 150 340 280 183 18 202 19

N

8



003/041
005/041
005/051
010/051
010/061
020/081
030/081
030-050/101
030-050/121
100/101
100/121

4.

A
209
2275
237,5

19 6
24 i6
286
38 k6
48 k6
55 m6

178
195
230
295
340

THI

H1

TECHNICAL CATALOGUE

n7z 42 97 90

171,5
178,5
188,5
203,5
218,5
2435
253,5
310,5
340,5
319,5
349,5

40 6

50
60
80
110
110

150
165
185
240
280

121,5
135,5
151
185,5
224

130
138
157
167
206
238,5
258,5
273,5
305,5
320,5

21,5
27
31
41

51,5
59

L | .~ | N | o |
130 105 55 9

42
50
50
60
80
80
100
15
100
15

I

97
97
107
107
7
154
154
154
184
184

90
90
90
90
90
120
120
120
120
120

f L c | v | K |
M6 13 50 12

M8
M10
M12
M16
M20

M8x17 (n.5)
M8x17 (n.5)
M8x17 (n.5)
M10x20 (n.7)
M10x20 (n.6)
M12x25 (n.7)

13
16
25
19
25

63

80
100
125
160

I S NN

98
109
123
135
178
207

12
14

23

17

22

8

14
16
20
22
25



VAR Series  Standard  IEC

10.2.3 VHRF.../..1 - VHRU.../..1

e
]
e

I

ot
—r—n

M - ——, u ® ®
1 m Nl — = o) o
o T
c1l -
L] bl ‘ ‘
M= g =N
Ob---‘ - -
K_| . K1 . . M .
R L

003/041
005/041
005/051
010/051
010/061
020/081
030/081
030-050/101
030-050/121
100/101
100/121

VHRF.../..1
VHRU |

o

[o2)



VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

HR
HR

[ o041 | 196 215 M8x17 (n.5)
[ os1 | 246 50 8 27 M8 M8x17 (n.5) 126
[ o6l | 286 60 8 31 M10 M8x17 (n.5) 136
[ o1 | 38 k6 80 10 Y M12 MI10x20 (n.7) 184
[ 101 | 48 k6 110 14 515 M16 M10x20 (n.6) 2515
[ 121 | 55 m6 110 16 59 M20 M12x25 (n.7) 266,5
-ﬂﬂ-_-_-_-ﬁ-_-_-_--_
B 86.5 _
B 130 12 70 178 150 100 l 106 1.5
[ os1 R 165 14 70 195 165 110 l 120 15
B > 195 23 85 230 185 123 14 130 15
B - 252 17 130 295 240 162 18 173 16
| 121 300 22 150 340 280 183 18 202 19
_----ﬁ-_“-_--i--
2165 1(n.4) 2200 9
HRo41r/u | FB [ . 2130 285 10 o 9 (n.4) 2160 / 9 35
HEESIU 2115 285 95 9 (n.4) 2140 / 9 3
[FD | 2100 285 80 M8 (n.4) 2120 / 9
. ase @215 @105 180 0 14 (n.4) 200 @250 12 4
[FB | 2165 2105 130 11 (n.4) 2200 / 2 35
2265 2130 230 14 (n.4) 250 2300 15 4
PRy a5 use 215 130 180 10 14 (n4) 2250 / 5 4
2165 2130 130 1 (n.4) 2200 / 5 35
2300 2165 250 18 (n.4) 300 2350 16
HR121F/u | FB [IEPER 45° 2265 2165 230 130 14 (n.4) 2300 / 16
2 215 2165 180 14 (n.4) 2250 / 16 4

81



VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

10.2.4 VH.../...2-3

97 90

A
003/032-3 250 212,5 65,8 9,2
003/042-3 261 2235 57 18 97 90
005/032-3 268,5 219,5 78,8 9,2 97 90
005/042-3 279,5 230,5 70 18 97 90
005/052-3 314,5 265,5 62,5 25,5 97 90
010/042-3 302 245,5 89 18 107 90
010/052-3 337 280,5 81,5 25,5 107 90
010/062-3 389 332,5 76 31 107 90
010/082-3 425,5 369 76 31 107 90
020/062-3 412 3445 95 31 nz 90
020/082-3 448,5 381 95 31 nz 90
030/062-3 439 354,5 127,5 31 154 120
030/082-3 475,5 391 127,5 31 154 120
030-050/102-3 531 446,5 123 35,5 154 120
030-050/122-3 591,5 507 m 47,5 154 120
100/102-3 556,5 455,5 170 35,5 184 120
100/122-3 617,5 516 158 47,5 184 120
o e el ¢ [t lcl kLl M| N ol r [s]
032/033 256 50 8 28 M10 25 90 15 130 140 1o 60 n 160 15
042/043 30 j6 60 8 33 M10 30 ns 15 165 170 135 85 14 195 15
052/053 35 k6 70 10 38 M12 30 ns 18 165 185 135 80 14 201 18
062/063 40 ke 80 12 43 Mi16 35 140 25 205 220 170 100 16 255 20
062/063 35 k6 70 10 38 M12 35 140 25 205 220 170 100 16 255 20
082/083 50 k6 100 14 53,5 Mi16 40 180 27,5 260 280 215 140 18 315 25
082/083 40 k6 80 12 43 Mi16 40 180 27,5 260 280 215 140 18 315 25
102/103 60 m6 120 18 64 M20 40 225 27,5 310 330 250 159 22 365 30
122/123 70 m6 140 20 74,5 M20 45 250 35 370 406 290 185,5 26 440 35

00

2



VHF.../..2-3
003/032-3
003/042-3
005/032-3
005/042-3
005/052-3
010/042-3
010/052-3
010/062-3
010/082-3
020/062-3
020/082-3
030/062-3
030/082-3
030-050/102-3
030-050/122-3
100/102-3
100/122-3

032/033
042/043
052/053
062/063
062/063
082/083
082/083
102/103

122/123

259

261
2775
279,5
314,5
302
337
389
425,5
412
448,5
439
475,5
531
5915
556,5
617,5

256
306
35k6
40 k6
35k6
50 k6
40 k6
60 m6
70 m6

I YN N I T
50 8 28 M10 90

60
70
80
70
100
80
120
140

2215
2235
219,5
230,5
265,5
245,5
280,5
332,5
369
344,5
381
354,5
391
446,5
507
455,5
516

33
38
43
38

53,5
43
64

74,5

M10
M12
M16
M12
M16
M16
M20
M20

65,8
57
78,8
70
62,5
89
81,5
76
76
95
95
127,5
127,5
123
m
170
158

15

15

140
140
180
180
225
250

9,2
18
9,2

31
35,5
47,5
35,5
47,5

M8x17 (n.5)
M8x17 (n.5)
M8x17 (n.5)
M10x20 (n.6)
M10x20 (n.6)
M12x25 (n.7)
M12x25 (n.7)
M14x28 (n.7)
M14x30 (n.7)

TECHNICAL CATALOGUE

97
97
97
97
107
107
107
107
7z
n7
154
154
154
154
184
184

15 92

15
18
20
20
25
25
30
35

90
90
90
90
90
90
90
90
90
90
120
120
120
120
120
120

15
116
140
140
180
180
227
253

97 90

83



VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

I T T S T I A T
@165 285 130 l 160 @200 9 35
032/033 as | as 2130 285 10 o 9 2160 / 9 35
e 2115 @85 95 9 2140 / 9 3
2100 285 80 M8 2120 / 9 3
@215 @105 180 14 200 @250 12 4

052/053 45 | 45 90

 FB | @165 @105 130 il @200 / 12 35
2265 2130 230 14 250 @300 15 4
062/063 |FB [P 45 @215 2130 180 10 14 @250 / 15 4
@165 2130 130 l @200 / 15 35
FA 2300 2165 250 18 300 2350 16 5
082/083 |FB [JFE 45 2265 @165 230 130 14 @300 / 16 4
@215 @165 180 14 @250 / 16 4
@350 2185 300 18 350 @400 18 5
102/103 | FB [ 45 @300 2185 250 150 18 @350 / 18 5
2265 2185 230 14 @300 / 18 4
122/123 | FB [ 45 @350 @200 300 170 18 @400 / 18 5

84



VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

10.2.6 VHU.../...2-3

250 97 90

| VHU./.23 |

2125 65.8 9.2

261 2235 57 18 97 90
2685 219,5 78,8 9.2 97 90
2795 230,5 70 18 97 90
314,5 2655 62.5 255 97 90
302 2455 89 18 107 90
337 280.5 81,5 255 107 90
389 3325 76 31 107 90
4255 369 76 31 107 90
412 344,5 95 31 17 90
4485 381 95 31 17 90
439 354,5 1275 31 154 120
4755 391 1275 31 154 120
531 4465 123 355 154 120
5915 507 m 47,5 154 120
556.5 455,5 170 355 184 120
617.5 516 158 47,5 184 120
| w23 [0 E bl t | f Jaln |l k Kk |l MmN ol o2 [ RS
25§66 50 8 28 MO 25 90 15 130 140 1O 60 T M8x17 (n.5) 160 15
306 60 8 33 MO 30 75 15 165 170 135 | 85 | 14 M8x17 (n.5) 195 15
36 70 10 38 M2 30 U5 18 165 | 185 135 = 80 14 M8x17 (n.5) 201 18
40k6 | 80 |12 43 M6 35 140 25 205 220 170 100 | 16 M10x20 (n.6) 255 20
35k6 70 10 38 M2 35 140 25 205 220 170 | 100 16 M10x20 (n.6) 255 20
50k6 100 14 535 M6 40 180 275 260 280 215 | 140 18 M12x25 (n.7) 315 | 25
40k6 | 80 |12 43 M6 40 180 275 260 | 280 215 = 140 18 M12x25 (n.7) 315 | 25
60m6 | 120 18 64  M20 40 225 275 310 330 | 250 159 22 M14x28 (n.7) 365 30
70m6 140 20 745 M20 45 250 @35 370 406 290 1855 26  MI4x30 (n.7) 440 35

85



VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

I T T S T I A T
@165 285 130 l 160 @200 9 35
032/033 as | as 2130 285 10 o 9 2160 / 9 35
e 2115 @85 95 9 2140 / 9 3
2100 285 80 M8 2120 / 9 3
@215 @105 180 14 200 @250 12 4

052/053 45 | 45 90

 FB | @165 @105 130 il @200 / 12 35
2265 2130 230 14 250 @300 15 4
062/063 |FB [P 45 @215 2130 180 10 14 @250 / 15 4
@165 2130 130 l @200 / 15 35
FA 2300 2165 250 18 300 2350 16 5
082/083 |FB [JFE 45 2265 @165 230 130 14 @300 / 16 4
@215 @165 180 14 @250 / 16 4
@350 2185 300 18 350 @400 18 5
102/103 | FB [ 45 @300 2185 250 150 18 @350 / 18 5
2265 2185 230 14 @300 / 18 4
122/123 | FB [ 45 @350 @200 300 170 18 @400 / 18 5

86



VAR Series  Standard  IEC

10.2 VH.../... TECHNICAL CATALOGUE

10.2.7 Weight

The values reported in the tables are referred to the weight of the gearbox with lubricant included.
*Weight without motor

55
s

87



